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STRAIGHT LINE GRAPHS
THE STRAIGHT LINE EQUATION Ref: G291 3S 1

Al State the gradient and the y-axis | A2 State the gradient and the y-axis | A3 Work out the gradient and the A4 Work out the gradient and the
intercept of intercept of y-axis intercept of y-axis intercept of

y=6x-5 y=7 4y=x-6 S+3x=2y

B1 State the gradient and the y-axis | B2 State the gradient and the y-axis | B3 State the gradient and the y-axis | B4 State the gradient and the y-axis
intercept of intercept of intercept of intercept of

y:4x y:4—2x y:x—3 y=—x

C1 Work out the gradient and the C2 State the gradient and the y-axis | C3 State the gradient and the y-axis | C4 Work out the gradient and the
y-axis intercept of intercept of intercept of y-axis intercept of

3y=2x+9 y=5-x y=x 3y+4x=6

D1 Work out the gradient and the D2 Work out the gradient and the D3 Work out the gradient and the D4 Work out the gradient and the
y-axis intercept of y-axis intercept of y-axis intercept of y-axis intercept of

4y+8=2x 1 x—y+7=0 9=3x+2y
5y=10+4x
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STRAIGHT LINE GRAPHS
THE STRAIGHT LINE EQUATION

L y=mx+c

Ref: G291 3 S 1

Al State the gradient and the y-axis
intercept of

y=6x-5
m=¢6
¢c=-b

A2 State the gradient and the y-axis
intercept of

y=1

y=0x+7
I

A3 Work out the gradient and the
y-axis intercept of

m=025
c=-15

A4 Work out the gradient and the
y-axis intercept of

5+43x=2y

] S\ ) .
Y= 15x+25

B1 State the gradient and the y-axis
intercept of

y=4x

Yy=Hx+0

B2 State the gradient and the y-axis
intercept of

y=4-2x

Yy=-2x+Hu

B3 State the gradient and the y-axis
intercept of

y=x-3
m=1
c=-3

1] — v Z
y=1x-3
I

B4 State the gradient and the y-axis
intercept of

y=-x

Yy=-1x+0

C1 Work out the gradient and the
y-axis intercept of

3y=2x+9

Yy=—X+93

J

NN

C2 State the gradient and the y-axis
intercept of

C3 State the gradient and the y-axis
intercept of

y=x

[ = j./\\/ T ?
J

C4 Work out the gradient and the
y-axis intercept of

3y+4x=6 l
I m=-=

y=—=X+2

: 3 c=2

D1 Work out the gradient and the
y-axis intercept of

4y+8=2x

1 m=05
y=—Xx-2
vo2 c=-2

D2 Work out the gradient and the
y-axis intercept of

1
Ey=10+4x m=2

Yy=8x+20 c=20

D3 Work out the gradient and the
y-axis intercept of

x=y+7=0

I VT
U=1x+7
I

D4 Work out the gradient and the
y-axis intercept of

9=3x+2y
m=-15
c=U5
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